Name Class Date

Practice Try the cest of +hem I Form K

. B
Quadratic Systems

Solve each system by graphing. Check your answers.

®{y=3x2+2x—5 5 { =-12-x+3 . {y=—x2+3x—1
y y=2x—2 " ly=3x+14 ly=—x-1
Ans: NO Sojution Ans: (0,-1) and (4,-5)
Atgebraically: ° X=| 9r x=-|
) o0 o
X 3x? tzx ’(::’Z(;Z whea x = [) y=2x-2 =2~z =0 p?"’(((o_,)
{;0) _ - o 71 =
. o 3x2 -3 = 0 = 3x%=3 Whewn X ==t y=2t0-2 = -4 S ((~1,~4)] —
(",""!) = %% =
Solve each system by substitution. Check your answers.
@{y=—2x2+4x—1 5 {y=x2+2 6 {y=6x2+5x+3
y=2x—5 " ly=-x+4 “ly=-x+3
2x—5=—?7+ -y Ans: (-2,6) and (1,3) Ans: (0,3) ennd (-14)
AT A+ = A Zx L £
Zx*—1x -y 2 ¢ 2(x-2)=0 or x+l =0 Wiken K22 § SN =TRUD-F=]
2(x*-x -2) =0 y ZXx-H{ =0 X ==l °°°[(2;-l)] v
2(x-)x+ D=0 2x = Y4 Whew x =-1 y= A -5 =7
2 2

oo ,( - -F) l il

Solve each system using your graphing calculator. '

Ans .
: {y=x2—2x+4 . {y=x2+3x—2 (—;‘-z) " {y=—x2+7x—2 Ans (1)
@ y=-x>+2x+4 “ly=x*+5x+4 7’ “ly=-x%+3x+2

E“S‘/ +v Solve with NSPI“'-L, LQ4" do o.\?)e\om?aa“b,

Xt-2x +y4y = ~ +z<+z( wohan X=0, y=x%*ax 4y
T ~1X -y = *z/:— - = 0%~ 20) 4y =Y
2x™ -yx =0 o x-2%0 .7 (0 4)]

22X = -
2 X =2 et
27‘()\ —Z)\:/ X = w han x:z) 7:2},—7.(1) +H =4

« % } (2,4) ]
(10.)Reasoning What is the least number of solutions a quadratic system can T
have? Explain what that means.

C wio

The \eas+ & 15 no solukren. Thr meons Fhe 3r*-a.p-\f»$ r
tThe @uactmdtic <Qua $roug don‘-(- fulersect,
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Practice (continued) Form K

Quadratic Systems

e

11. You work at a restaurant whose weekly profit is given by the formula
Txtysx-3 = x -9

P = —c? + 14c¢ + 800, where cis the average price of the food, in dollars.

@ The manager wants to add delivery service, which will cost the restaurant Umu lHiply every term on
2 D = 5c¢ + 300 per week. botl LIS ARHS oF equato
- 2=~ . w
# t{: 1}_ _Z ’}‘/ a. Use a graphing calculator to find the highest average price c the restaurant 3 <
- can sell its food at and still make a profit if they add delivery. Rz %2 S'x—-S\ =Qx—-2-9
-x'ia x—|=0 b. Whatwill the weekly profit P be if the restaurant sells its food at this average
N hir G price and doesn't offer delivery? XRTH+IDx =3 ‘_ﬁg/
" ¢. Reasoning Even though these equations have two solutions, why is only i = e
“I(x T k)20 e solution useful? (Hint: Remember this is a real situation.) XT3ax +15=0
Xt -2x +\ SO &+5Yxt3) =0
(x=1)(x=1)=0 X=-5 or x=-3
(x~v* =0 Solve each system. When necessary, round solutions to the nearest hundredth. whem x = -5,
-(= =x-Q c-s-1=-|
A _{. © ®{ =—x2+5x—2 i {y=x2—4x+5 .{y=%x2+5x—% JREY B !
X = y=3x-1 y=-3x+5 y=x-9 Whir x = -3,
= Ans: (0,5)oand (1,2 v e
et o S (T3] s L A = v b SR G e B
y=3x~ =3~ =2 [=3,-19)[*
=x+7x—2 =—5x2 —x+ =2x*—x—4
15 {y X+ 7x {y 2 —x+3 > {y x% — x
y=4x-5 = =j=2 y=x+2
No solvhen Ans: (1,=1) and (1,-3) Ans (2.3,4.3) and (~l.3,o.7)
/ . =2x*—x+3
@Error Analysis A classmate said that the quadratic system {;’ — —3y +x3 has
no solutions. Her work is below. What mistake did she make? What is the solution
of this system?
0,2 P, W mistat it M The Second sep.
@ "Z{_ /—s:x— A FTETS= AR She heedud o Svbhoet 3 Fo bih. s
X 3 + 2 - :
% 4x— 2x“+2x+6=0 4 He of Hre cavmbrtm. So | we should hewe!
2 -
O=5xt-§ x+x+3=0 N
IX" 421X =0
§osx™ —1+ VP - (9)(1)(3) )
2(1 x(x+=0
(= x* ( ) (
—1 4+ /= | S
t=x I_T V-1l Lx=0 Ov X+ (20

X=0 or xz-I|

x=|, y2 ~x-t=s-(-1=-3 _ S
- ]@,3) M@/
(A)\'\WX"")/ y = =(=1)>Le ~{

(- -0l v
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